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T 20 YR REH ~ 220
s=0
SEU FOMBMHARE 23
SE0 MBI ool mel
SN S(B) - NRAY - B2 e =2
FEH 536,558 551,348 214,790
220 FUAMHIANHAES 23 167,186 186,906 A19,720
FEQ FUMEIA 167,186 186,906 219,720
FEH FQUFHBE 66,080 66,080 0
201 B3| 7,000 7,000 0
03 A2 ZHI 7,000 7,000 0
O3k 838 dHdMsU 6,000, 000& 1 6,000
OFEH =EAIIEHAL 1,000, 000& 1 1,000
301 LEtB A3 59,080 59,080 0
05 &-cl-EtEEsEas 55,080 55,080 0
Ool&Esg 200,000& «162!x12& 38,400
O0lEaM= 200,000& *1621%23] 6,400
O0lE 3lo&A&x== 20,0003 *162!1+x23]x12& 7,680
Oogt& =4 50,0003 x52¢! 2,600
10 ALAHIE &= 4,000 4,000 0
Ou=s & A S AKX AHIE2Y
1,000,000& * 14! 1,000
O3 &3H JHdMsUHE 3,000, 000& *13] 3,000
FEH N2 23,926 24,806 A 880
101 14| 2,792 2,704 88
04 JI2ZtMZ22XSE+ 2,792 2,704 88
osXz2 34 34,9003 2021 x40 2,792
201 LetI| 21,134 22,102 2068
02 =234l 21,134 22,102 A 968
O332= & HMA 14,032,000& *14] 14,032
(@):K=3:] 4,102,000% 1 4,102
OAl 4 EHI= Xl 3,000, 000& 1 3,000
FEH HdFXA 69, 180 88,020 A 18,840
201 Let2d| 20,100 20,100 0
01 AR 22| 12,000 12,000 0
Oget=ZH| 10,000,000& *14! 10,000
o2d=¢ 2,000, 000& 14 2,000
02 2323l 8,100 8,100 0
oRER3 4,600, 000& 14 4,600
OXt& =Xl 3,500,000 =14 3,500
202 (4Hl 46,080 49,920 23,840
01 =LA b 46,080 49,920 23,840
OJI2gR=8 2t bl(122!)
3,840,000 x12& 46,080
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_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
405 XHAHE SHI 3,000 18,000 15,000
01 RAUSEH S| 3,000 18,000 15,000
OLIEPN =R TE=>] 3,000, 00024 +1CH 3,000
22X AYB X 8,000 8,000 0
405 THAHE St 8,000 8,000 0
01 RAUSEHSH| 8,000 8,000 0
OolA2 el 8,000,000% 14! 8,000
220 A A 308,820 308,690 130
SEN ARDFUSAAY 308,820 308,690 130
22X FOSAY 302, 160 302, 160 0
401 Al&HIL 20| 302, 160 302, 160 0
01 Al&t] 300,000 300,000 0
OARE ZOIHAMY L NSNS AL
300,000, 00021 * 14! 300,000
03 Al& = CH| 2,160 2,160 0
OAl& = ht| 300,000,000% 0.72/100 2,160
S2p Ry 6,660 6,530 130
101 121yl 4,260 4,130 130
VIBEDTEESEEPS 4,260 4,130 130
Oz a2l(Me) 2 2T
42,6002 *1021 %102 4,260
201 LByl 2,400 2,400 0
01 Attt 1,400 1,400 0
OS22(MA) ¥ S#3JY JH AXE
1,400, 00021 *14! 1,400
02 IZ2Y| 1,000 1,000 0
Odsr2arsz ALSXZ2] 500,002 2744 1,000
220 By 60,552 55,752 4,800
22 o2y 41,480 40,880 600
220 o2y 41,480 40,880 600
101 o121l 31,320 31,320 0
N 31,320 31,320 0
OAZtel 224 7,457 %1421 +300A] 2+ 31,320
203 HRFAY| 10, 160 9,560 600
01 JIR2YAR =AY 6,600 6,000 600
Ol YL =AY 6,600, 00021 +19! 6,600
02 HRAIIAYLETY| 560 560 0
OBRAIIYRETY| 40,0002! *1491 560
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04 2AM 3,000 3,000 0
ORA 250,000& «12& 3,000
o o123 19,072 14,872 4,200
fE2H JI= 19,072 14,872 4,200
201 gt 8,032 8,032 0
01 AR 8,032 8,032 0
o= 4,504,000& 14 4,504
@)= 7,000 x1421+33| x 12 3,528
202 O4Hl 5,840 5,840 0
01 =Yl 5,840 5,840 0
o221l 2,000, 000& 14 2,000
OJl2g=8odl (12 3,840,000 14 3,840
405 KHaHFESH| 5,200 1,000 4,200
01 T =SS HSHI 5,200 1,000 4,200
OFC 1,300, 0003 »4CH 5,200




